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Attempt any five questions from Section A
and all questions from Section B.
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SecrioNn A (WTE ) Marks : 2x5

How do you decide the nature of data distribution
based on the values of different measures of
central tendencies?
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Give the distinction between parametric tests and
non-parametric tests.
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What interpretations are possible when you find a
low correlation between two variables?
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Describe the central limit theorem. What is its
importance?
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Why is ANOVA a better method of under-
standing significant differences among means
compared to ¢-tests? Explain.
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List the assumptions underlying the use of ¢-test.

(v F owm § stafifer sfadd 9 geR
et

What do you understand by interval estimation?
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Secrion B (@UE /) Marks : 5x5

Perform hypothesis testing and draw inference
(without writing steps of hypothesis testing):

Hg: p=50, Ha: £<50, Alpha=-05, Sample mean=
47-3, Sample 5.d.=9-5, n =28,

WFFETT GRG0 HT A AR I (FEEeT
T & T F& 7 faraw):

He: =50, Ha: <50, Alpha=-05, Sample mecan=
47-3, Sample s.d.=9-5, n=28. 3

A rescarcher made the following inference based
on a significant ¢-test result: “There is a significant
mean difference in the Females’ self concept and
Males' marital satisfaction.” 1Is this inference
acceptable or not? Explain why. '
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2. Undergraduate students residing in the hostels of a

university were surveyed for their risk perceptions.
The researcher is interested to know whether there is
any significant difference between the risk perceptions
of male and female students of the university in
gencral. Using directional Ha at -05 level of signifi-
cance, test the hypothesis.
Males (n=37) Females (n=36)
Mean 23.57 27-23
s.d. : 5:72 6-13
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s.d. 5-72 6-13

. Describe the data given below with an appropriate
measure of variability:

Marks 0-9 |10-19{20-29 [30-39 | 40-4% [ 50-59 | 60-69 | 70-79 | 80-8%

Frequency | 2 | 28 | 23 | 17 | 15 |12 | 6 5 2
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sm | 0-9 |10-19[20-29 [30-39 | 4049 |50-59 | 60-69 | 70-79 { 8089
sngfa | 2 | 28 | 23 ) 17 | 15 ] 12 | 6 5 2

4. On the basis of response to two questions, the

following table is prepared.

Do you think that

responding to onc question has an influence on
responding to the other question? Formulate a
hypothesis and test it at 0-01 level.

The questions were:

(i) Are you satisfied with thc manner of assessment
followed in your institute?

(ii) Do you think your institute is earning its reputa-
tion based on its quality of education?

Question 2
Question 1 No Yes
Yes 15 62
No 21 37
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¥ 2
¥ 2 No Yes
Yes 15 62
No 21 37

" 5. A university decided to award Letter grades in the
following manner to the undergraduates (n=875) in a
course. If the distribution of achievement scores in
that course is assumed to be normal, find the limits for
Grades A, B and C. (Mean=58-36, SD=12-87.)

Grade A+ Top7% Grade C Next 25%
Grade A Next 8% Grade D Next 10%
Grade B+ Next 10% Grade F Rest of %

Grade B Next 15%

T favafsaies T TEEE § SETE (n=875) %
frerfafes s ¥ Aecie Tr w6 = FeEg = 1
(e I ISHHA H (quned ofH @ fqaw ' ae
faar g & 0% A, Bawitcé'mmmmaﬁf‘am
(Meg=58-36, 5.d.=12-87.)
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